dnorm(x, mean = 100, sd = 10)

Frequency

Frequency

0.02 0.04

0.00

100 150

50

4000 8000

0

Normal Curve
Mean=100 SD=10

I I I I I I I
70 80 90 100 110 120 130

X

Distribution of sample means
n=3 mean= 100 computed SE= 0.803
estimated SE= 5.77 numComb= 1140

7(\

[ I I I I I ]
85 90 95 100 105 110 115

theseMeans

Distribution of sample means
n=7 mean=100 computed SE= 0.803
estimated SE= 3.78 numComb= 77520

)N

[ I I I ]
90 95 100 105 110

theseMeans

Frequency

Frequency

Frequency

600

0 200

15000

5000

0

Population distribution
n=50 mean=100

Sigma=10
T T T T |
80 90 100 110 120
population

Distribution of sample means
n=4 mean= 100 computed SE= 0.803
estimated SE= 5 numComb= 4845
- A—\

[ I I I I I ]
85 90 95 100 105 110 115

theseMeans

Distribution of sample means
n=8 mean=100 computed SE= 0.803

estimated SE= 3.54 numComb= 125970
N\

[ I I I ]
90 95 100 105 110

theseMeans

Frequency

Frequency

Frequency

1000 2000 3000

0

10000 20000

0

4

Distribution of sample means
n=1 mean= 100 computed SE= 0.803
estimated SE= 10 numComb= 20

N

L~ N

80 90 100 110 120

theseMeans

Distribution of sample means
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